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03.

04.

99 ITA&T FIE/Question Booklet Code A

quT TRAT TSR #, Ucdeh SRs F ORT & v g & /In a full wave rectifier, the

current in each diode flows for

OO0 w»

fAder Hevel & quT 75 /whole cycle of the input signal
f¥aer Hahd & 37¢T T /half cycle of the input signal
forarer Tohd & 37¢7 T fir eIl & 3{T®% /more than half cycle of the input signal

ZoIH A IS AT /none of these

Teh Wehed UTRGT fheeX &, FfHHT Re,/In a LC filter, the ripple factor,

o w >

R YRT & 1Y 96T & /Increases with the load current

R 9TARIT & AT dadT & /increases with the load resistance

R &IRT & A1 2R 8T & /remains constant with the load current
Tg+IcH Hod § /has the lowest value

e U 3aR IRT IFR e & Ao gfay 9 STar ) 9F) URT /If the series

resistance increases in an unloaded Zener regulator, the Zener current

oo w >

H< SATCT & /Decreases
Teh €1 TGell ¢ /Stays the same

gfg gl 8/Increases
dleedr fasford UfaRier & sRTeR g1 & /Equals the voltage divided by the resistance

dlecdr fam#e ve aRaer §, ST /A voltage regulator is a circuit which

A.

THT dieedr & ST leear & yRafda sxard

Converts the ac voltage to dc voltage

ST oot deedr #F v ewrar &t gore S ¥

Smoothens the ac variation in dc output voltage

THT f¥aer dleedr a1 4 URT # 3AR-9G1a & ardsyg o7 S 97 deedr R w@ars /

Maintains a constant dc output voltage inspite of the fluctuations in ac input voltage or
load current

F9ded # @ F1g 761/None of the above
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05. 3@ # faw arw gRuer § / The circuit given in the figure is:

R

S T2 AT i

VAR N U

=
v )

V1 VZ

¢TsTTcH e shdeh/positive clipper

R UTcH Shlsh/negative clipper

JeTel Shcren/dual clipper

Fuerd # &I LT / none of the above

oo w >

06. 2 uF 3iR 4 pF erRar & &Y Hemfet i veh 30 V S el & 3R-ar Aof 3 53 gu ¢ | Fenha
IMEART g1 & 915, 3% IR-UR HI dlecdm & /Mwo capacitors of 2 uF and 4 uF

capacitance are connected in series across a 30 V dc battery. After the capacitors have
been charged, the voltage across them will be

2uf Apf

——

@ 30V

A. Y&+ 15V /15V each
B. &#A: 10V 320V /10 V and 20 V respectively
C. HHA:20V IR 10V /20V and 10 V respectively
D. Yd&30V/30Veach

07. U ey URT @1d §/An ideal current source has

37eia G 9faRier / infinite source resistance

Y T T / zero source resistance

T 9feRitr & a3 H{ed / large value of source resistance
i wfaRier & aRfAT 7 / finite value of source resistance

oo w >
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08.

09.

10.

11.

12.

w27 93T S18/Question Booklet Code | A

farg 9RoT a9y & 4Ry Ateedr @ , g STelr § /In a purely inductive circuit
the current ....... the voltage by .....

A. 0% 9/ lags, O°

B. 90° 33V leads, 90°

C. 90° 45/ lags, 90°

D. 45° dI5/ lags, 45°

gt & B I AUROT Y ... & 1T & 9ok elfAd I fRaT ST bl 2/The B of a

transistor may be determined directly from the curve plotted between

2RI |5 ToIT Ve 3R I Vee and I for constant Ig
PR I & ToIT Ve 337 I Ve and I for constant I
&R 15 TIT Ve 3R 1e/Vee and I for constant Ig
TR Ve & TIT Ve 3T 1 /Vge and I for constant Ve

o w>

AT THAATT & T FAFAH H 3cHoieh YR/ The emitter current in a junction with normal
bias

A, 3TYR YRT ¥ S9T879T ST g/ is almost equal to the base current
B. g 3R Ic% IWT & sRIEX &/ is equal to the sum of Ig and e
C. HIE HHAT deedr # g uRac & gaRT Hhr gRafcld giar &/ changes greatly by

small changes in collector bias voltage
D. lcgo 3 RIS glis equal to lcso

Wns e &, & ol & garT A V-l & ifRestor sm@a g @in CE

configuration, the output V-1 characteristics are drawn by taking

|e % TEUTTeh 7o & TAT Ve 971 I / Ve versus | for constant value of I

|g % TR #He & fIT Ve &7 | / Ve versus | for constant value of I
Vs & TERTH Hed & foIT Ve F11 I / Ve versus I for constant value of Veg
39derd # ¥ 1S 781 /None of the above

oo w >

Teh & ETeTh H 9GS SA1SeT ST UTHAT Y gl ST &/The process of adding impurities
to a pure semiconductor is called

A.  THEHOTMixing

B. TaERUT/Diffusing

C. 3ifYe/Doping

D. 39dwd & & IS E1/None of the above
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13. TA-YhR T JTFT #, E!gﬂ?-r grgeh 8I9T1/In n-type material, majority carriers would be
A. T@g/Holes
B. 3Mgec/Dopants
C. Tarav/Slower
D. Sddaci/Electrons
14,  HIF-81 B ol g i IR & ToIv gHe T SITar §2/Which fiber is preferred for long
distance communication?
A.  HIYET geehieh Tehol HIS HISR/Step index single mode fiber
B. WW@%WIGraded index multimode fiber
G. WWE@%W/S’(@ index multimode fiber
D. i Faehieh Bgat/Graded index fiber
15. g P-N Seere Qi & €1 § @, R1 & 3RUR dleedr &7 ¢ / What is the voltage
across R1 if the P-N junction is made of silicon?
PN
VA
12V =" R1 § 1kOhm
A 12V
B. 11.7V
C. 11.3V
D. oV
16.  "epuel dleedr, g dtecdT §/The pinch off voltage is the voltage
A T3\ W @R Id ST $9T &1 STl o/ at which gate source junction breaks down
B. S 37deT¥ 819 ¥ TR &1 SRUT §=7dT &/ which causes depletion region to meet
C. gl airelr 3R W & o dleedr 3[9ged &IdT 8/ the voltage applied between drain &
source
D. 39 # @ &S L1/ none of the above
17. U& GHET 9id JFET yadie & A9 aleear &/In a common source JFET amplifier the
output voltage is
A.  180° ohall @1 & T [=d2e1/180° out of phase with input
B. fader & I@er &l /In phase with input
C. 90° el Te=T o a1 921/90° out of phase with input
D. 3Wjed # § &S Agi/none of the above
‘ 4 | ] TFeATRT TETIF (FoiFeiiareh) Ruew 2016 - ITESNIRE / Tech Asst (Electronics) Dec 2016 - IPRC
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18. Teh WWW # /A common gate amplifier has

A

3o [Aaer ufaer 3K 3= efe ufaer

high input resistance and high output resistance

AT Paer wfaer 3ik 3= Hete wfaey

low input resistance and high output resistance

=T aer wfaer 3k @ @9 ufaer

low input resistance and low output resistance

39 [Aaer 9o 3R ey Fete ufay

high input resistance and low output resistance

19. & gifoeX 9 oY yatie & 3ediv W &gl ST /A two transistor class B amplifier is

commonly called

oo w>

gfa yatiw/dual amplifier

FAAT yatieh/symmetrical amplifier
Y watiw/differential amplifier
&9 YT yaeish/push pull amplifier

20. TAEfA@T & & @i @1 yatieh 3chvear 3 AW SAr §/Which of the following is
considered an amplifier figure of merit?

A
B.
C.
D

UeT(a)/alpha ()

reT(R)/beta (B)

At gg-faedR IUTsT/gain bandwidth product
dqHTsT/temperature

21. @l @1 gyatie g, forqer i arr dqot @ & fv yarg gidr 8/ Which amplifier whose

output current flows for the entire cycle?

A. T Alclass A
B. g9 Biclass B
C. T Clclass C
D. @37 AB/class AB
22. U WOT Yatieh T o5 Tlers EREES SCIEED §?/The bandwidth of a single stage
amplifier is that of multistage amplifier?
A. & sUsequal to
B. d aA/less than
C. &I el & 3f&eh/more than
D. ¥addl/independent
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23.  IREN. IIAAT & AU gatial T waer fRAT ST §1/ RC coupling is used for
amplification.
A. dlecdi/voltage
B. &Rl/current
C. Hahd/signal
D. «fFd/power
24.  yatier @ A giaeren , ST ROTcHS dlecdl GaATeld 2T e fhdT SITel & 1/The
input impedance of an amplifier when negative voltage feedback is applied.
A. &H gl ST §/decreases
B. Y= &l S 8/become zero
C. d¥cdrglincreases
D. &gl sgeldT g/is not changed
25.  YoT:fAqer UTe A gIdT &/ Feedback factor is always
A. ¥=dlzero
B. 1¥&%H/less than 1
C. 1% sre/equal to 1
D. 1 ¥ SgEl/more than 1
26. @i & AT FT TART F&H T 81T F Gl & 3earea & v fmar Srar g1 MWhat
oscnlator is used to produce frequencies in the microwave region.
A. @I gel/Wien bridge
B. gca/Hartley
C. elisEcled/Klystron
D. fEea/Crystal
27.  foneeel & g1e faegd HTa 41 §?/What is the piezoelectric effect in a crystal?
A, aIAT & FHROT IRy 7 aRade gidT &
change in resistance because of temperature
B. A & HRoT 3gfed 7 aRade g g
change of frequency because of temperature
C. & % Yga glet & HROT URT [Ioh A giehl &
current is developed due to force applied
D. Jif¥® ufdee & SROT diecar [awiad gldl &
voltage is developed because of mechanical stress
| 6 | ] TFATRY TGS (STl farehy) Rfaw 2016 - 3MEHITH / Tech Asst (Electronics) Dec 2016 - IPRC
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28.  HR-TAETYT & A1Y YaEe S UfASTer Aol g1 A1RT, afe/The impedance of a load must

match the impedance of the amplifier so that

HR A =gsTcT# ATferd T AT g1/ minimum power is transferred to the load
AR A 31T8ehda AfFd FT 3701 8T /maximum power is transferred to the load
Hehel A TG T T4 AT gl/signal to noise ratio is maximized

fola=T T X E&TdT §=ATT I@T ST /efficiency can be maintained at low level

oo w>

29.  RIeTA-8] HJfld 8, AE /A Wheatstone bridge is balanced if

A, G & T T FT IRIUHT BT 31T Teh &, ST @l o 7 wfoRiest & 3egara
3 & /fthe ratio of resistors on one side of the bridge is one while the ratio of
resistors on the other side is infinity

B. W % Ueh R TTCRIEIhT T 0T GER TS & TTRILh F Heqa1d & A8 ¥ /the ratio

of resistors on one side of the bridge is greater than the ratio of resistors on the other
side

C. U & Udh G TR & IHeqdTcT GEY oW & TTRILEHT & e & STa § /the ratio

of resistors on one side of the bridge equals to the ratio of resistors on the other side

D. 3wi#d # @ FI3 dAi/none of the above

30.  AFHAA-AG, A & T F ATT Ihed Dl ATIAT § / Maxwell bridge measures
an unknown inductance in terms of known
A.  @TRdT/capacitance
B. ufcRiY/resistance
C. W&hcd/inductance
D. 3mgfcd/frequency

31, 3Ty 3EF H el AT wZwAcd IR &, Sif G2lel aTel ATILA 3 IelT wamey e fIehy ar

Bﬁlﬁ T §2/What is the smallest change in applied stimulus that will indicate a
detectable deflection in a indicating instrument is called?

A.  Irddr/Accuracy

B.  9RRId/Precision
C. gnfedm/Sensitivity
D. fags=/Resolution
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32,

33.

34.

39,

36.

dfarcAs vatie & @3Td & 9gele &1 37T8hd# & 8/The maximum rate that an output of

an operational amplifier can change

HI.UA.3MN3IR/CMRR

T &V/Slew rate

9T 3iceied dieedl/Input offset voltage
39derd & § 1S Agi/none of the above

oo w>»

T Heohd, ST TANEr gatie A1 Wiharcas yatieh & il Al o SR Teed § qagerd

fohaIT SITAT & /A signal that is applied with equal strength to both inputs of a differential
amplifier or an operational amplifier '

AT 84T Thd/common mode signal
AT 3cdoieh 9RT2/common emitter circuit
AT 39T TRYA/common ratio signal
39ded & U IS wAgi/none of the above -

oo w»

AT %F IRUY F sTAATS fHT ST dTell TS AU 1S4, T §2/ What is the most

popular IC used in timing circuits?

741
317
340
555

Cowx>

2 SCRs & aXIeR U T &/ A Triac is equivalent to two SCRs

HHATAR #H/ in parallel

I Ash A HHT=R #/in inverse parallel
AofY H/in series

sgcfshal AT A /in inverse series

oo >

SCR # AIH0T 31949, &/The control element in SCR is

UAIE/Anode
Fg/Cathode

cadR/Gate
&S @1 mqfci/Cathode supply

OO0 w>»

(8]
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37. AfxIEFAf(t) §F FME § o & f(2t) A FaA____ & SO ¢/lf a signal f(t) has
energy E, the energy of the signal f(2t) is equal to
A E
B. E/2
C. 2E
D. 4E

38. o fe@rw 91w 3@ A, 3y & fAder & v sepaAfad afFd TR #41 §2/n the figure

shown below, what is the expected power level at the input to the receiver?

-10 dBm
OUTPUT

Source Load

2dB 3dB 5dB
LOSS LosS LOSS
A.  20dBm
B. 30dBm
C. 40dBm
D. 50dBm

39. & fe@v 3w gRuyr #, R1 & 3/RUR dieedT 9rd &7 §7/In the circuit shown below, what is
the voltage drop across R1?

R1 10Q

~Aih

R3
50

48Vo|ts____ R2
10Q
R4 RS
R6 10Q 10Q 10Q
A. 48V
B. 9.6V
C. 19.2v
D. 28.8V
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40. 19 AT IFA & ARI & I3 BRI H FSAT AT haT ST 8, o9 FAT §rem?/What

happens when heat is applied to the joined ends of wires of thermocouple?

dRT T Hehi=l/the wires contract

R T gUTeT &al T 38T/the wires start to rotate

T o dleedl 3cde=l glan/a small voltage is generated
IR =T geehientOT/the wires separate

oo w >

41, fedt 7 v goa & o Raa §, v Raa Frael #Afoe W, 3R q@r ggeh Afae W 1307
Reawr it feufar 1 caret fonw 9=, Soar &t Uk e @ =1e] T Fehdl § 31 e 3 9 Fehel 6|

oo T FEaTRIT htar &7 dh AT WIaT /A bulb in a staircases has two switches, one switch

being at the ground floor and the other one at the first floor. The bulb can be turned ON and
also can be turned OFF by and one of the switches irrespective of the state of the other
switch. The logic of switching of the bulb resembles

A. UssS ZdR/AND gate

B. 3R EdRI/OR gate

C. =3 gar/NAND gate
D. UFH3R g@R/XOR gate

42.  %ad 2 A Ales G@RT FT T FE e Belel Y= AB + CD &t ifte &3elt §1 38 faw

FISAH 3TaeTeh SaRT T H&AT & /The Boolean function Y= AB + CD is to be realized using
only 2 input NAND gates The minimum number of gates required is

oow>»
bW

43. @Af@T #§ T Si9-ar wer aRafds & & & S Srar §2/Which is known as flash

converter?

A.  #Ra gfaRye S/ aRafds /weighted resistor D/A converter

B. 3caRlcal HieaAehesT w/3Y aRafcia /successive approximation A/D converter
C. g&dd gae Wi aRafda /dual slope A/D converter

D. THAER w2 yRafd= /Parallel A/D converter
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44. U 3T dlecHTIN H gdd Tollel TELE. 3UANT ael & ol Ig ¢ o /The advantage of

using a dual slope ADC in a digital voltmeter is that

SHhT TIhdT 3T g /its accuracy is high

SHPT TUTILUT HIT BT & /its conversion time is small

g .82, s 7 ReTe 2T & /it gives output in BCD format
SHA Jelflo I HTGLTehdT w181 § /it does not require a comparator

oo w»

45. 4 9T worer TELHY. & Jefersl Sl HEAT § /The number of comparators in a 4 bit flash ADC is

4
5

15
16

oo w>

46. & ET. I ol H, CMOS o & 9 g /As compared to TTL, CMOS logic has

UdTeleT o 3¢ 1Td /high speed of operation
TR Uferd @1 &7 /higher power dissipation
oIc #ifde 3R /smaller physical size
39gercl 7 @ FIg g1 /none of the above

oo w >

47. T9Y AYH & & TAAT 7 foe 378 15 § /The most widely used 7 bit alphanumeric

code is '
A. ASCII

B. EBCDIC

C. gfa3muny Is/Binary code

D. 3 HIs/Gray code

48. A8 F AT TF 1 T THIHR dleedr {7 § /An acceptable voltage range of a logic 1 for

TTL
A. 0¥0.8V/0to0.8V
B. 0¥1.5V/0to1.5V
C. 3585V/35t05V
D. 23¥5V/2to5V
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49.  YRIEdl cRamT & Torw set =k 1 afenfe fham aram § / Duty cycle for repetitive waveform
is defined as
A. T FTel A el el FHI 39T /ratio of ON time to Total time
B.  dTe el & AR el T AT /sum of ON time and OFF time
C.  TaRIe Sl & Te] el T 37U /ratio of OFF time to ON time
D. el &TeT W ATe[ el & 3TN /ratio of Total time to ON time
50.  foPera & 3raeaT=vrelld, 519 Q = 0 31K Q' = 1/The state of flip=flop when Q=0 and Q' = 1
A 9e1:FT9eh /Reset
B. A< /Set
C. IR 3/aeu/Trigger state
D. 3-3/a&u/Tristate
51. U @9y 3R.uH. [Faq warg feTT ellT & /The one input RS flip flop is the
flip flop
AT
B. D
C. R
D. TcasilLatch
52. e YR Y &, T Ul ohl el & T oeh ol il & /This type of bus carries the
memory address from the computer to the memory
A. Ydr 94 /Address bus
B. 3crd /Data bus
C. T&==ur s /Control bus
D. HHAWIR 94 /Parallel bus
58. U fAde B, S 6 durgen 9ot # T @ ST o S S $HROT S7ar § / An
instruction that causes data to be brought from memory into an accumulator register
A. FETCH
B. LOOP
C. LOAD
D. JUMP
(12 | | ol weme (sereifoe) Rax 2016 - SN / Tech Asst (Electronics) Dec 2016 - IPRC
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54. U I FT GITA T AT AET & Ieqshd F AT el I ST §, 59 difod S

&% fsuesT & fow IR /It is needed to translate a high level program into a
sequence of machine instructions that performs the desired task

A. ISide/Assembler
B. Tdhferd/Compiler

C. scUcInterpreter
D. aNHTeis/Debugger

55. TAFATf@d # & veh HTRIsTEr €41 § / Which of the following is a non volatile memory

A. ROM
B. RAM
C. PLA
D. PLD
56. U ds HIfAT hd Fr AgfFase ot W ufdads f&am Srdr g, Hand @l & ganr

TSI T el HTe AT ST TehdT & /A band limited signal is sampled at Nyguist rate, The
signal can be recovered by passing the samples through

A, AR e /RC filter

B. 3TeoIg HH /envelope detector

C. dweuer /PLL

D. 3Ra o dls & @y g e 3mgfcd U MheeT fideal low pass filter with

appropriate band width

57. U sHegeX §1s f8&h §/Hard disk in a computer is

A.  3TEYUTS Yahg He=l/Temporary magnetic storage

B. YR ghrg w1/ Permanent magnetic storage

C. 3TU &THAT bl 3%k Fad=T/High capacity optical disk storage
D. 3Td &THdT E.2.3H /High capacity CDROM

58.  ufRadf AT §? /What is varistor?

A. deear WX AR 9l /a voltage dependent resistor
B. dlecdr ® {8 SIS /a voltage dependent diode

C. oRT W ¥R ufaesh /a current dependent resistor

D. ORI W fA¢R S™S /a current dependent diode
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59. B A9 IS3T I A3 el T AT SeveTell HIFCII I A1 F4T §2/What is the name of

the software that allows us to browse web pages?

A.  #dl Folse Mail client

B. - UW.ELdY. Fegce /FTP client
C. dT139iX /Browser

D. #¥SR /Messenger

60. T 37T FRAI & Th AT gl T, AWG22 &l AWG26 ¥ dR IS delel U THIT T
&/ All other factors remaining the same, what is the effect of changing wire gauge from

AWG22 to AWG26

A.  9fdaTar & g S1UeT /impedance will decrease
B. 9iaRIYr & gfg g1 /resistance will increase

C. Whca H AT RN /inductance will decrease
D. enfkar & gfg glell /capacitance will increase
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Examination for Selection to the Post of
Technical Assistant (Electronics) — Post Code:018
vide Advt. No.IPRC/RMT/2016/01 dated 05.08.2016

ANSWER KEY

Question Booklet Code A

Q. No. | Ans. Key Q. No. | Ans. Key Q. No. | Ans. Key
01 B 21 A 41 D
02 Cc 22 Cc 42 B
03 A 23 A 43 D
04 Cc 24 Cc 44 A
05 C 25 B 45 Cc
06 Cc 26 Cc 46 Cc
07 A 27 D 47 A
08 (0 28 B 48 D
09 A 29 Cc 49 A
10 B 30 A 50 A
11 B 31 D 51 B
12 Cc 32 B 52 A
13 D 33 A 53 Cc
14 A 34 D 54 B
15 Cc g5 B 55 A
16 B 36 Cc 56 D
17 A 37 B 57 B
18 B 38 B 58 A
19 D 39 Cc 59 Cc
20 Cc 40 Cc 60 B

PS:- Any objections/queries in the Answer Key may be sent through email to

career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



